Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0001

Name of the Student : ABINASH A

Father Name: ANTHONYRAJ Mother Name: ANBUMARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	4.00	16.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0002 Name of the Student : ARUN I

Father Name: IYYAPPAN Mother Name: KANNAGI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	5.00	15.00	С
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: SUJATHA



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0003 Name of the Student : ARUN R S

Father Name: RAMACHANDIRAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	5.00	20.00	С
2	ADMINISTRATIVE THINKERS	Th.	4	5.00	20.00	С
3	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	ENVIRONMENTAL EDUCATION	Th.	2	6.00	12.00	В
6	TAMIL- I (AEC01)	Th.	3	5.00	15.00	С
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: VADIVAZHAGI



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0004

Name of the Student : BALAHARIS S

Father Name: SENTHIL KUMAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	5.00	20.00	С
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	5.00	15.00	С
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: SOUMADY



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0005

Name of the Student : BALAVIGNESHWARAN T

Father Name: THIRUNAVUKARASOU

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	5.00	20.00	С
2	ADMINISTRATIVE THINKERS	Th.	4	5.00	20.00	С
3	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
4	UNDERSTANDING INDIA	Th.	2	5.00	10.00	С
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0006 Name of the Student : CLOVIS A

Father Name: ANANDARAJ **Mother Name: VANITHA MARY**

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	AB
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	АВ
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	АВ
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0007 Name of the Student : DANIEL A

Father Name: ANTHONY LENIN

Mother Name: IRUDHAYAMARY INDIRA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	АВ
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0008

Name of the Student : INBATHAMIZHAN M

Father Na	me: MURALITHARAN		Mot	ther Name	: MUTHU	LAKSHMI	
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F	
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F	
3	BASIC BOTANY (MLD01)	Th.	3	000	000	АВ	
4	UNDERSTANDING INDIA	Th.	2	000	000	АВ	
5	ENVIRONMENTAL EDUCATION	Th.	2	000	000	АВ	
6	TAMIL- I (AEC01)	Th.	3	000	000	АВ	
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	АВ	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0009 Name of the Student : KABILAN V

Father Name: VIJAYAKUMAR Mother Name : ALAMELU MANGAI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	4.00	16.00	Р
3	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	5.00	15.00	С
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0010

Name of the Student : KAMALESH B

Father Name: BASKAR **Mother Name: RENUGA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	4.00	16.00	Р
3	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	4.00	12.00	Р
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0011

Name of the Student : KAVIYARASAN S

Father Name: SELVAM **Mother Name: BANUMATHI**

						I
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	4.00	16.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



>>> Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0012

Name of the Student : MANIMEHALAI M

Father Name:. Mother Name:.

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	4.00	16.00	Р
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	4.00	12.00	Р
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	4.00	16.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0013

Name of the Student: MATHAN DOSS G

Father Name: GANAPATHY Mother Name: SAVITHRI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	АВ
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	АВ
3	BASIC BOTANY (MLD01)	Th.	3	000	000	АВ
4	UNDERSTANDING INDIA	Th.	2	000	000	АВ
5	ENVIRONMENTAL EDUCATION	Th.	2	000	000	АВ
6	TAMIL- I (AEC01)	Th.	3	000	000	АВ
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	АВ

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0014 Name of the Student : MOHAN C

Father Name:. Mother Name:.

I		I	I	I	I	I
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0015

Name of the Student : PRAKASH M

Father Name: MATHIAZHAGAN Mother Name: RAJALAKSHMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0016 Name of the Student : RACKLAN L

Father Name: LAWRENCE RAJ **Mother Name: LENCY MARY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	АВ
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: LILLY



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0017

Name of the Student : RAJUDEVAN L Father Name: LAXMANAN

Credit Credit Th Grade SI. No. **Subject Name** Grade Pr Hours Point Point 1 CONSITUTION OF INDIA (MJD01) Th. 5.00 20.00 2 ADMINISTRATIVE THINKERS Th. 6.00 24.00 В 3 BASIC BOTANY (MLD01) 12.00 Р Th. 3 4.00 UNDERSTANDING INDIA 000 F 2 000 Th. 5 **ENVIRONMENTAL EDUCATION** 2 С 5.00 10.00 Th. 6 TAMIL- I (AEC01) Th. 6.00 18.00 PUBLIC ADMINISTRATION IN SOCIOLOGY Th.

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: EZHILARASI



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0018

Name of the Student : SANTHOSH M

Father Name: MAYURANATHAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	5.00	20.00	С
2	ADMINISTRATIVE THINKERS	Th.	4	4.00	16.00	Р
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	4.00	16.00	Р

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0019 Name of the Student : SESHAL S

Father Name: SELVAKUMAR **Mother Name: TAMILARASI**

I		I	I	I	I	I
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	5.00	20.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0020

Name of the Student : SIVASUBRAMANIAN S

Father Name: SIVAKUMAR **Mother Name: TAMILARASI**

I.	I	ı	ı		1	ı
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	4.00	16.00	Р
2	ADMINISTRATIVE THINKERS	Th.	4	4.00	16.00	Р
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0021

Name of the Student : SUGUVENTHAN K

Father Name: KUMAR **Mother Name: MAHESWARI**

I		I	I	I	I	I
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0022

Name of the Student : TAMIZHVENDAN S

Father Name: SEKAR Mother Name: REVATHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	000	000	F
2	ADMINISTRATIVE THINKERS	Th.	4	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	5.00	10.00	С
6	TAMIL- I (AEC01)	Th.	3	000	000	F
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	000	000	F

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: VANAJA



>>> Result Announced Date: 16/05/2025

I Semester B.A. PUBLIC ADMINISTRATION JANUARY 2025 Examinations

Reg. No.: 24PB0023

Name of the Student : VAISHNAVI K

Father Name: KANAIKAL IRUMBALAI

1						
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	CONSITUTION OF INDIA (MJD01)	Th.	4	6.00	24.00	В
2	ADMINISTRATIVE THINKERS	Th.	4	6.00	24.00	В
3	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
4	UNDERSTANDING INDIA	Th.	2	000	000	F
5	ENVIRONMENTAL EDUCATION	Th.	2	6.00	12.00	В
6	TAMIL- I (AEC01)	Th.	3	5.00	15.00	С
7	PUBLIC ADMINISTRATION IN SOCIOLOGY	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.